Complex Low Price Example – DVBE Incentive
	Bidder:
	A
	B
	C
	D

	Responsive & responsible
	Yes
	Yes
	Yes
	No

	Eligible preference 
	None
	SB
	MB
	MB

	Eligible DVBE participation
	None
	1%
	2%
	None

	Bid amount
	$81,000
	$81,500
	$83,000
	$80,000

	Initial Ranking
	1
	2
	3
	N/A

	SB Preference amount
	
	$  4,050
	$  4,050
	N/A

	Subtotal
	
	$77,450
	$78,950
	

	Ranking after SB preference
	3
	1
	2
	N/A

	DVBE Incentive %
	
	3%
	5%
	

	Incentive amount
	
	$  2,430
	$  4,050
	

	Evaluated bid price
	$81,000
	$75,020
	$74,900
	---

	Final rank
	3
	2
	1
	N/A

	Step
	Action
	DVBE Incentive Calculation

	1
	Identify the net bid price of the #1 ranked bidder 
	Bidder A at $81,000  

	2
	Determine the corresponding percentage of DVBE incentive for the bidder; 
	Bidder B has 1% DVBE participation so the incentive is 3%.

	3
	Determine the “calculated incentive amount” for Bidder B 
	$81,000 X .03 = $2,430

	4
	If the cumulative adjustment has not been reached, use the “calculated incentive amount”.
	$2,430 is lower than $8,100 [10% of $81,000]  
$4,050 + $2,430 = $6,480 
15% of $81,000 = $12,150 

	5
	Subtract the calculated incentive amount from the “subtotal” of Bidder B
	$81,500 - $6,480 = $75,020

	6
	Repeat steps for each qualified bidder; Bidder C is also eligible with 2% DVBE participation – so the incentive is 5%.  Deduct the calculated incentive amount from the “subtotal” of Bidder C.
	$81,000 x .05 = $4,050 ($4,050 SB preference+ $4,050 DVBE incentive = cumulative adjustment of $8,100)
$83,000 - $8,100 = $74,900

	7
	Calculate final ranking
	


Award: The award is to Bidder C for their bid price
